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1 Tl1x 111 5 T19 x 191 FTOHITFE

1. = ot o—DhoEE RS
2. TLOED— DN OEE+-ZHMT 2
3. FlE1 FIE2 %2, MiETHLTRET

firgik:

«14 x 17 DS

1. 1447=21

2. 4%x7=28

(Ans) 14 x 17=238 g

+12 X 13 DIBE

1.12+3=15

2.2X3=6

15

3. 4+ 06
156

(Ans) 12 x 13 = 156 m

+16 X 18 DIFH
1. 16 +8=24
2.6 x8=48

24
3. + 48
288

(Ans) 16 x 18 = 288

+13 x 19 DS
1. 13+9=22
2.3x9=27

22
3.+ 27
247

(Ans) 13 x 19 = 247



2 —ODUZRI L 10ICHED. TOUMNFELWL 2 HTOHRNTE

fiFE
1. (TR X (Tofio%ic 1 2R L)
2. —ONETOHENTE

3. FlH 2 o xFIH 1 oA IS

<72 X T8 DIFE + 39 x 31 DIFE
1. 7x (7T+1) =56 1.3x(B+1)=12
2.2x8=16 2.9x1=9
3. (Ans) 72 x 78 = 5616 = 3. (Ans) 39 x 31 = 1209 -

3 TOuZRI L 10ICHEB. —DUNFLV 2 HTOHNTE
LI3¢S

1. (TONOE) X (T DL DOE)+(— DN DE)
2. —OfFEtOENIHE
3. FE 2 o %2FIE 1 ORDHITHNS

+ 29 x 89 DIFE « 47 X 67 DIFE
1. 2X8+9=25 1.4X6+7=31
2. 9x9=281 2. TXT7T=49
3. (Ans) 29 x 89 = 2581 - 3. (Ans) 47 x 67 = 3149 -




KRR e Ro B e e Ne o R e e Re R e e R
-AHERRE 1-
118 x 18 = 4. 56 X 54 =
2.19 x 14 = 5. 72 x 32 =
3. 41 x 49 = 6. 41 x 61 =
4 9HNEHIT BHENTE
i

L N2V OED» S 1 %254
2. 9T 2B oFIE 1 O E5I<
3. FIE 2 0% % FIH 1 OBDOHITUND

« 99 x 48 DIBFE + 999 X 683 DS

1. 48 — 1 =47 1. 683 —1 =682

2. 99 —47 =152 2. 999 — 682 = 317

3. (Ans) 99 x 48 = 4752 - 3. (Ans) 999 x 683 = 682317 -
+ 8428 X 9999 DIHE + 99 x 9999 DS

1. 8428 — 1 = 8427 1.99—-1=98

2. 9999 — 8427 = 1572 2. 9999 — 98 = 9901

3. (Ans) 8428 x 9999 = 84271572 - 3. (Ans) 99 x 9999 = 989901 -

O
O
O



5 11 O#HNTIR

ik

1. 11T 28E EHICE -2k
2. ENCBAT 2 22/E. 11 ICHNI A BN LD 1 o/h&L T3
3. 11 IHNF 2 B 2R ZF OO D &2 2= AL D

*34 x 11 DIBE

+ 86 X 11 DIFE

1.3 4 1.8 6
2. 3004 2. 816
3.3+4=17 3.84+6=14
(Ans) 34 x 11 =374 m 846
+ 1
946

(Ans) 86 x 11 = 946

« 8649 x 11 DES

1. 8 9

2. 8010J419

3.8+6=14

6+4=10
4+9=13

84039
+ 111
95139

(Ans) 8649 x 11 =95139 g

S S X XS



6 100 KDODLARZTVE, /MhEVWHELOHITE

s ik ~N
1. 2 DOEEHEINRS
2. HNz 100 ¥ DEE ZhzhE L
3. FlE2 % ERcHIIEL. FieEL
4. HEMBD or HRBDICEL. Fic#EL

\ J
+ 93 x 91 OIS +102 X 104 DFBE
93 102
1 1.
91 104
93 — 7 102
2. 2.
91—9 104 4
93 — 7 102
3. 91—9 3. 104 4
63 8
93 — 7 102 2
4. 91 —9 4. 104 4
84 63 106 08
(Ans) 93 x 91 = 8463 - (Ans) 102 x 104 = 10608 -
AT EE 2-
1. 99 x 98 = 4. 6579 x 11 =
2. 1392 x 9999 = 5. 98 X 97 =
3.52x 11 = 6. 96 X 85 =




7 T—fh s 0y D2 EHE

A

1. (TR OE) X (T DAL O¥ +1)

2. —DNOED 2FHE T2

3. FlE 1 oFITHERS

- 752 DIFE + 1352 DIFE
1. 7x (7T+1) =56 1. 13 x (13+1) =182
%# 0.1 M1 X 11~19 X 19 O#HIFHE

2.5x5=25 2. 5x5=25
3. (Ans) 75? = 5625 m 3. (Ans) 752 = 5625 n

+ 99952 DIFH

1. 999 X (999 + 1) = 999000
2. 5%x5=25

3. (Ans) 99952 = 99900025 m




8 —ODUDOHMDMA 10 THOUDOHHMN—HFHLTWBH T
figik
L (FLWVETOE) X (FLWEBT O +1)
2. —ONMOKELOHENTE

3. FlE 1 oFITHERS

+136 X 134 DIHE < 9992 x 9998 DIFE
1. 13 x (13+1) =182 1. 999 x (999 + 1) = 999000
2.6x4=24 2.2 x8=16
3. (Ans) 136 x 134 = 18224 - 3. (Ans) 9992 x 9998 = 99900016 -

VOOV 888808080]

-FHERE 3-
1. 352 = 4. 179 x 171 =
2. 1052 = 5. 128 x 122 =
3. 1552 = 6. 998 x 992 =




S
A 1-
1. 18 X 18 =324 4. 56 X 54 = 3024
2. 19 X 14 = 266 5. 72 X 32 = 2304
3. 41 x 49 = 2009 6. 41 X 61 = 2501
A 2
1. 99 x 98 = 9702 4. 6579 X 11 = 72369
2. 1392 x 9999 = 13918608 5. 98 X 97 = 9506
3. 52X 11 =572 6. 96 X 85 = 8160
A 3
1. 352 = 1225 4. 179 x 171 = 30609
2. 1052 = 11025 5. 128 X 122 = 15616
3. 1552 = 24025 6. 998 X 992 = 990016




